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@® 2km? = 20000a @ 6ha = 60000 m”
@)40km? = 400ha @ 500ha = 5km?

® 70000m? = 7ha

® 40km? = 4000 ha




® 0.21ha @ 3000 cm x 45m

® 5800a @ 1.43km?2

(@)1.41 km?

~&B

T 22 9= 1A v gy
D0.21 ha = 2100 m?
@3000cm x 45m = 30m x 45m = 1350 m?
®5800a = 580000 m?
@®1.43 km? = 1430000 m?
(®1.41 km? = 1410000 m?
@®>0>0>0>0




3. 7127} 265m ]2, A 27} 130m ¢ Az moFe] w9lo] 9l
Ut o] 4= 9] gol= E a §17] FokA L.
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265 x 130 = 34450( m2)
— 344.5a




o 5 d% ved A2
@ 3t =3000kg

@ 2t = 2000000 g

® 0.65t = 650kg
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ZARJA I 2AL.

@9000t =9kg
@ 0.6kg=600g

@ 9000t = 9000000 kg




5. Teg BT 2L ARE Aedz 58 24,

@ 12t700kg O 12t © 12t100kg

® 12080kg @ 11090kg
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@ 12700 kg

© 12t

© 12t100kg

@ 12t80kg

@ 11t90kg
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1.3t = 1300 kg
1300 + 70 = 18---40 o|B& 18 7|7}#] AL 4= &Yt}
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7.

‘ 1300cm = 13m °©]B=2 13 x 13 = 169(m?) YUYt}

169 m?

>




ha

240 x 150 = 36000( m

2) = 360a = 3.6 ha
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(90 + 120) X 80 =+ 2 — 50 x 40 = 2
= 8400 — 1000 = 7400( m?)
= 74(a)
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17t da ) 0HER9] T tjzHA] Zol750m A o, HHE HhzHAle]
Zolt @ m A7) T5hAL.
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da = 400m? °]|B &
400 + 50 x 2 = 16(m)
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_-460m- _
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400m
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TT--640m- "

> & a
> HEHD 2200a

(460 + 640) x 400 + 2 = 1100 x 400 + 2 = 220000m? =
220000 m? = 2200a
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A27} 35m o] &9 Zo]7}F 150m ¢ AA}
ol 2ol Woli B 4 Q12| FoHA Q.

» = a
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(7t=29] dol)= (150 + 2) — 35 = 40(m)
(o] Yo])= 40 x 35 = 1400( m?)
la=100m?2 °]|E2 1400m?2 = 14 a
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A ] Wol)= 6x 8 = 2 = 24(m?)

FuPE o] Wol)= (6 +9) X 12+ 2 = 90(m?)
AR} QFupiro] wol)

90 + 24 = 114(m?)
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14. #LolyE= 3.2ha 9] =04 & 5.6t = AR, W= 4.5ha
4 —‘mﬂ/ﬂ & 7920 ke 2 AASFALSUTH 1a & AAEES o] o)
% kg H BHUE?

®© 72, 1kg @ 72, 0.1kg ® ¥4t 0.01kg

@ "4F, 1kg @‘?J'Fh 0.1kg

B ~
7Aooy 1a F AA4=F : 3.2ha = 320a,

5.6t = 5600kg = 5600 + 320 = 17.5( kg)

A 1a T RBAEEF @ 45ha = 450a,

7920 + 450 = 17.6( kg)

wrakA] 97y 7} 1a T AJALEFO]

17.6 —17.5 = 0.1(kg) & @5t
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7}27F 600 m, A 27} 450 m ¢1 ZAFZHE mek
EZo] Yol A Hol7} 50a 9 W ¥ A THE
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(AAHZYE meFe] o] yol)
600 x 450 = 270000( m?2)
270000 m? = 2700a LT
o] A& Y ol7} 50a <l EPOE [BATS- ]
2700 + 50 = 54 (7)) o] =

Wol7l 50a 91 H& 47H s o+ As4HH.
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7= @ x 60

U= 190 x 90 = 17100 m?

7} 1}4=2.37ha = 23700 m?2 |2 &
@ x 60 4 17100 = 23700 m?

@ x 60 = 6600

@ = 6600 + 60 = 110( m)




= 6(ha)

o] Yol)= 24 x -

40000 m?
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4 ha = 40000 m?
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Y=(E 2] PAF)x1.5 =4 x 1.5 = 6(+t)

V=& AAE)%0.8 = 6 x 0.8 = 4.8(t)
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19. o& EFoIA AnEE 1r 29 geles 0166km* Ayt
A% Leeo Hole ¥ ha 917 FoHA 2

_-0.35km__

-

km & m 2, km? & m? 2 114 Ao,
(ArchE]EC] Hol)

= (350 + 480)x (=°])+2 = 166000
(3°])= 166000 x 2 + 830 = 400( m)
(A7 Le=9 §ol)

= 480 x 400 + 2 = 96000( m?)

96000 m? = 960a = 9.6 ha
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+

6.3(t)

ZH)x0.7 = 9% 0.7

ZF)x1.8 = 5x 1.8 = 9(t)
F

}\(1)4 A




